Q.P. Code :19931

[Time:2:00 hours] [ Marks:60]

N.B: 1. Question No.l is compulsory. It carries 15 marks.
2. Attempt any five from the remaining questions. Each question carries 9 marks.
3. The English version of the paper is the correct version of the questions paper.
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3. AT FATIhT BT TT=r &7 HSaT. Tedeh FHTeT & T[0T 31
3. Ttk S T 7T ST,

What is power distance? Explain with suitable examples. 9TaC TS TEUIel 197 TETET T .,
OR ferar

Explain the relationship between stress- adaptation-growth. Td- ISWLIH- MY AidfieT AT Tsier
TqY .

Our ideas of sex are rooted in our culture. Explain with suitable examples. ﬁw AT

Describe the underground music movement in India and show it is resistance to cultural practices
through ritual. WRATATS SHITA €T Sesacbi=l Ui ST HTOT forefqT @ieapcren TTaiforTe #iguft
ENIRIRGES IR

What was the cultureal impact of the Partition of India? HRdT=aT foramrofi=n WWW
HTAT?

Different cultures have different ideas about power. Explain. TG Wﬁﬂﬁww
T TeodT AT, T .

What was the cultural impact of the collapse of the Berlin Wall on November 9, 1989. Tegen R,
9.R¢R TSt aifct=i Fid shidese =T Fieehiaen TRuH T e

Explain the concept of habitus as described by Pierre Bourdieu. fer aﬁc\#{ < gferew & HeheuHT
Y .

What is cringe music? Expalin the phenomeno with suitable examples. EERSISCRE AR

HISTET0T T 7,
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What is intercultural personhood? Explain. eeheeiet Qﬁ?%§ TEUNS T o T8 AT,

Ritual-tradition-culture-religion-critique Diwali in the Indian context. W@-W—W—Hﬁ-
TeaTSi=l v Hewia dter .

Giving suitable examples explain how according to Emile Durkheim does society remain

relatively stable? HHTST HTETRUTYUI feR T Tl € THeT TUETgH=AT Hd ¥l Bld & HIGTE T8 .

>k ok ok o ok sk s ok sk sk ok skoskosk sk

Page 2 of 2



